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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

(ZArer) wet e Bes )

1. Choose the appropriate answers from the
choices given against each : 1x10=10

free RTsrnR o[l va Seah! il Shiear ¢

(@) Providing information to top
management is ——r  of
financial management.
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(b)

N «ifRclee TeqT ©Y @A 1o [\
sAf_pleTFy ————— |

(i) recurring function
Twesifs

(ii) non-recurring function
e

(iii) routine function
frafan =

(iv) advisory function

ot I

Financial leverage refers to which of
the following ?

Réh e Frae @ @ ¢
(i) The use of debt to pay dividend.
e fFogds AT WoR IR |

(i) The wuse of fixed income
securities to meet deficiency in

dividend payment.

Tefied R WS »=e A ZH
oRyE afogfes IR

4 (Sem-5/CBCS) COM RE 5/RE 6/G 2

e s

(c)
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(iiij The use of fixed income
securities to increase the EPS.

EPS 3I5I7T AR T oge dfogfes
BISE

(iv) The use of equity to increase the
EPS.

EPS 354 I 2336 39291

Capital budgeting is a part of
YEIGNT CSO A6 S TH

(i) investment decision

R Prars

(ii) working capital management

LN AL ARG

(iii) capital structure

Tag el

(iv) dividend decision

Troyies  Rftiesd Pmis
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(d) Under Net Present Value method, a

(e)

project is accepted when present
value (PV) of outflows is

present value (PV) of inflows.

Y5 I6AM T (Net Present Value)
AROT IO! oFH AT I A (TS 97 719
Iffwe IS o 5 79 T IS T
TS =
(i) more than

@ =
(ii) less than

I

(iii) equal to
A ="

(iv) None of the above
8oFT OIS T

“When profitability index exceeds
one, the proposal is rejected.”

(State True or False )

“c@feq profitability index 931X @o7® 37
cofow oos 9 9 T
(97 @ q9% T 1)
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(A

(9)
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Optimum Capital Structure refers to
the debt-equity mix where —

AT T4 HAN I P w4 T (7R

s ezt =@ I —

(i) debt is higher than equity
A9 AN =G =W

(ii) equity is higher than debt
A AISF SR

(iii) the firm’s cost of capital is
minimum and value of the firm
is maximum

Aoy R W WRE W
AP e Wifts =

(iv) All of the above

8] SGIZCR0!

The higher the degree of financial
leverage, the greater is the financial
risk.

(State True or False)

ReR foreTer wse ez wiFe =
Rélw Rommiss Pz & |
(3% 7 o5% GrEs 9 )
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(h) Which of the following is a part of
financial decision-making ?

e (e Rew P fdfirer w2

(i) Investment decision
R Fare

(ii) Financial decision
R P

(iii) Dividend decision
sopied R Prars

(iv) All of the above
7T SGIRCLG!

(i) Current assets are twice the current
liabilities. If the working capital is
Rs. 20,000, current assets would be :

sfre wif§ st oMk 8 °d =i I
FIFF o= 20,000 TH W, (ST Sfere
Toifer AR = 3
(i) Rs. 10,000

10,000 B
(i) Rs. 40,000

40,000 5
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(i) Rs. 80,000
80,000 5

(iv) Rs. 20,000
20,000 53

G) Earning per share (EPS) is calculated
as

ﬁm@mmmsﬁcﬁw&;w

(i) (Earning available to preferred
and equity shareholders)

( Number of preferred and equity
shares outstanding)

(TaifErRge wi% 2330 ST
il =)

(TAFPRTE O 226 SHoIaT
WL AR )

(i) (Earnings available to equity
shareholders)

( Number of equity shares

outstanding)
(33 T Ao =)
(3320 SHeiEr i wefReenias)
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(iii) ( Profit available to shareholders)

(d) State the sources of finance.

Res Ty S 41

(Market price per share)

(T QTR sy S)
(T ofs TR @)

(e) State the meaning of accounting
rate of return.

PR RehE  (accounting) W 9

(iv) (Earnings to shareholders)

(Number of shares issued to et
promoters and shareholders) 3. Answer any four of the following
(ST 25 ) questions in about 180 words each :

- | 5x4=20
(SRHAAIYTT R TrEia Rge ©eR Il Bifabt et Areeed o 150 B
AT AR ) i Y [Soae Tex o4 ¢

, L (a) State the limitations of financial
2. Answer the following questions in about management.
e ReremRr Tomernz Sy i1

50 T W31 fooge e AfS! os Tes fral ¢

(a) What is cost of capital ? |
a3 ¢ !

50 words each : 2x5=10 i
|
|

(b) Discuss the use of Internal Rate of
Return (IRR).

(b) Define ‘Operating Leverage’. ST TR FT A TR W R G

SO 91 |
Tabe frenses sice |
; ; (c) What is stock dividend ? Why is it
(c) What ﬁl;{;agltal structure ? issued ?
A P 2

T don F ¢ 3ae [w Ris =11 =@ e
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(d)

(e)

i

Explain Profitability Index Method.
Profitability Index #&fex i |

Ritika Ltd. issued equity shares of
Rs. 100 each at a premium of 20 per
cent. It paid a dividend of 20 per cent
to its shareholders. Calculate the
cost of equity capital if the annual
growth of dividend is 10 per cent.

Rfo FRET @ 100 5 TEHF FMK 20%
e tre R 3@ @rNIeR
FAARHYITT TS 20% IS Fopien et
F@E | W AR aond J@wI T 10% =,
(STA TN o4 I 7 =+

Or / qa4<Y

Discuss five leading determinants of
working capital of a firm.

AfSPm GBI IR TS AR
RSN A5 AL TAMA ST 9 |

Write a note on Optimum Capital
Structure.

ol e AT eoige 91 (Brel fEH
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4. Answer the following questions in about

600 words each : 10x4=40
g_%o Bl e foote NRe ofS emR Tes

(o) “Financial management is
concerned with the solution of
three major decisions — financing,
investment and dividend”. Explain
the statement highlighting
interrelationship amongst these
three decisions.

“REem sifRprEmI—ie, RiNce == TN
e ST 1217 S o = b Ko e A
wfte |7 @3 51 Prarey si=ifs T9=
IR Torre Rt i 01

Or /g%t

Discuss the scope and functions of

financial management.

8 JRvEmR AR O e 3
>4 |
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(b) Discuss the various methods

(c)

followed in capital budgeting.

Tl AEO 4TS I Rfen oo
wicEs 54 |

Or/eq)

Elaborate the determinants of capital
structure of a corporate entity.

<o1 Fer afSPR Egw sfef Refirs REw
T TAMNEIT IR 1
Define  Working Capital. What

considerations are taken into

account in estimating the amount of

working capital requirement in a

newly started company ?

TS TR @ ww ) W @A
oo IFN A R seaee & &
Rrao et @@ ¢
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(@)
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Or /994t

Financial management can use
dividend policy to maximise the
wealth of equity holder. Explain with

suitable example.

ARE JHATF oW "I (wae [y
ARG onid W6 AT IRI S|

Toge TrimaeIE It T

Explain the relationship between

operating leverage and financial
leverage.
oy fFreie ok e freites
ART 70 PG 40|

Or / 934

A firm is considering the purchase of
a machine. Two machines A and B
are available, each costing
Rs. 50,000. In
profitability of those machines a

discount rate of 10% is to be used.

comparing the

Earning after taxation are expected
to be as follows :
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51 AfHIE @B o T 99 Reea OPTION -B
Rtz | =S (a1 Rs. 50,000 R o1 Paper : COM-RE- 5066
o= A/W B I@ITS WIR| qCADl o (Indirect Tax Laws)
e WEq  wael [Nwsld IS 10% B | Pull Marks : 80
(Discount rate) 91 (32| 9 Fiow famg
si5s 4] Helife WY were T 499 8 ; Time : Three hours

in t argin indicate
Year | Machine A | Machine B P.V. Factor Th;uf:?g:ik: fo':'etl?e qguestions.
Cash Flow | Cash Flow @10%
(in Rs.) (in Rs.) Answer either in English or in Assamese.
1st | 15,000 5,000 0.909 (2 w2t epre Bed frall)
2nd 20,000 15,000 0.826 ‘
| i directed :
3rd 25,000 20,000 0.751 | 1. Answer the following as direc o
1x10=10
4th 15,000 30,000 0.683 s m woTe Tl SMERe TeR 1l
5th 10,000 20,000 0.621 1
Evaluate the projects using payback L (i) Indirect taxes are imposed on goods
period and Net Present Value and —————.
method. 1 [ Fill in the blank with appropriate
"3 word/words |
(-3 RIS W% NPV 71 o0 eashiig
T 4| ‘ AT T4 AQ O] ——— 9 8IFS i
WA
(N 312 Toge = 739 F90)
|
R
4 (Sem-5/CBCS) COM RE 5/RE 6/G 14 | 1 Gom-5/CBCS) COM RE S/RE 6/ 15 Cond.
h



(viii) The is the Chairperson of 2. Answer the following questions : 2x5=10

the GST Council.

PP DS S

' weTe il Itk TeR o g
[Fill in the blank with appropriate |

§
word/words] (i) What is Value-Added Tax ?
GST Council ¥ WW 7| l W_j{g\ﬁ‘f@ﬁ' T N ﬁi ERK
(B % N 5HZ 979 39)
(ix) GST network is a Government ' (i) Explain the term ‘Manufacture’
organization. under Central Excise Act.
[ State whether the statement is true @RI NIFR 2T GFTe TesAua’
or false ] =31 I T |
GST network 95! 5IFI] 715 |
(Of&T51 % 7 woT Trad 79) (iii) What is ‘Safeguard Duty’ under the
(x) Under GST, a registered person is Customs Act ?
not a taxable person. " VY WzWI GNe ‘Waoe v W &F
[ State whether the statement is true | oY ?
or false] ;l
| iv) What i ~
GSTY Fimd PR, gew fage I (v) What is Input Tax Credit ?
T UE TR | {6 B (T Wi Bz

(Cfeor o7 7 som Gy ¥9)
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(v) Mention any two salient features of

GSTN.
GSTN= Rl 767 Srmecasy &g
TEe A

Answer any four questions :

Rz sifor s Ted {3

(i)

(it)

(iti)

5x4=20

Briefly explain any five features of .

Indirect taxes.

ST FI9 Rl 501 &gy saee ian
|

Write a short note on valuation of
excisable goods.

PIFIR] I ILI TN 819w 5 (GI!
ot |

State any five objectives of enactment
of Customs Act, 1962.

IV B, SovR TR TR [rden 56!
T B
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(iv)

(v)

vy

Briefly explain any five salient
features of Goods and Services Tax.

L W ORI F99 R 2561 Stacdiss
aFE sItE I 9

Explain the concept of Tax Invoice
under section 31 of the CGST Act,
2017.

CGST i34, 2017 I €9l 31-F 9Fw® IR
PIeTiN 4199 i <<t |

Write a brief note on the Threshold
Limits for Registration under GST.

f&.97.67 9o sifgaax A @ifs T
8IS GO &l |

Answer the following questions :10x4=40

woTe Tl emitaire Tew Bl ¢

(i)
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Describe the history of Indirect taxes
in India.

OROI® @rF aq 2o I 4|
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(it)

Or/93ql

What are the general principles of
Value-Added Tax ? Explain the scope
of Input Tax Credit under VAT.

5+5=10
TS T AR AoRE & & e
T-Eite s wET© A6 TN
(FfEBa wAfET i 4|

Describe in brief, the histt?ry of
Central Excise Law in India. 10

THSIR® (@@ SRS S 3o
BICE I 1|

Or /9l

Write brief notes on the following
terms under Central Excise Act :

5+5=10
FEHR WA S S were
AT e syt Gl fora

(a) Excisable goods

AT T I8
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I

(iii)

(iv)
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(b) Manufacturer

T

Explain the various types of custom
duties. 10

RS = 18w @ [y 1)

Or / 924}
Briefly explain the following terms
under the Customs Act, 1962 :

5+5=10
B WiE, 19629 WS wer©  famy
*TMCIITF 5 I+ ¢

(a) Baggage
e

(b) Anti-dumping duty
af5-uifolk ow

Describe the history of Goods and
Services Tax in India. 10

SRS @ WF CRI 39 3o oA
=4 |
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or / &%dl

What is composition scheme in GST ?
Mention any five persons who are not
eligible for composition scheme.

5+5=10
GST-1 ufe e Ry &F =e
IR KhR AE Q) F-— G A
{779 e By T
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